a

£

o 20 m-s=
=
]_ [e) S
=
LI

E*VJ
s} %
& &ole A
=
=& km 4Y7}t
f)

I..
km



317 x 80




60=-20=[ |

(6+2=])



I
rr
I

7} 33 1 WAl A v 2] 7}

@ 30

=]
=

2~
T

oL
BAT

rr

2~
T

® 29

o]

L



[ ]x1000

200 x 90




e AL

-
—]15-/(41

367 x 26




=

< %ol 2 AFH AUz 7|28 2 A2 o= AJY7R

oo

@ 180+ 30 © 560+ 70

® 250+ 50 ® 360 + 40

® 96 .60 266,60 ® 6,006
@® ® 0,006 ® 060,06



R e L EEE A



841 +57=14.--43

® 57+ 14+ 43 @ 14 +43+57 ® 57x 14+ 43
@ 57x43+ 14 ® 574+ 14x43




10. oS 5 AXF A7 10000 9 7HE 717k AL o]

D 400 x 20

@ 223 x 47

@ 50x 170

® 520 % 36

©)



11.

& % UAle el A7 02 shi

® 36+10

@ 66 =50

@ 96 + 30

® 7670



12.

< 1582 A 10000 €92 W5Uth A

=1L F1%
ot 54

gt el 640 94
SEES dubE ook shEA] T 2.

[e]

at_l-: 2]



13.

538 m 9] =S &t AARE TS 1 Yt AR} ot A& ZAF
SH=dl 40 m7F 2 QS A E EH | 2T 490 Y v e

2 m 7] FHIALL.

ke R
a = m



14. g heAe Adstel, 23t vl A S
o= AU (B 270)

@® 570 + 45 @ 868 +54

@ 897 + 54 ® 469 + 62

@ 200+ 15



